FEM-Modell; 8211 Knoten; 1782 Elemente; Solid 126 Node Hexa)

Randbedingungen: A= Einspannung; B= Axialkraft FreeB000N
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Materialgesetz; Linear elastisch, ideal Plastisgh= 100N/mm?; Isotrope Verfestigung

-|| 5tep Controls
Number Of 5teps 1,

Current Step Number |1,

Step End Time 1, s

Auto Time Stepping | On
Define By Substeps
Initial Substeps 10,
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-|| Solver Controls

Solver Type Direct
Weak Springs Off
Large Deflection Off
Inertia Relief Off

+| Nonlinear Controls

+| Output Controls

+ | Analysis Data Management
+| Visibility

Solver Einstellungen
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Mises-Vergleichsspannung; Seqv,max = 99,9N/mrh®0N/mm?2



